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The application of the skill score to the daily re-initialized simulation (Case 4 in Fig. 5in
Interactive Comment/Answers to Referee #2, Geosci. Model Dev. Discuss., 6, C830—
C838, 2013) was wrong. To compare between the cases with and without frequent
re-initialization, the same definition of the skill score has to be used, i.e., the same
cumulative Lagrangian distance (observed) during the same simulation period (3 days).
The skill scores of Case 4 are now correctly defined in the attached figure.
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Fig. 1. Correction to Fig. 5 in Interactive Comment/Answers to Referee #2, Geosci. Model Dev.

Discuss., 6, C830-C838, 2013.
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